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(1) 1t directs the behavior.

(2) It sustains the behavior.
(3) It energizes the organism.
{4) It increases reasoning.
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A student who has trouble
v membering the location of the
African countries, (hana and
Guinea, after learning about the
South American country of Guyana
has fallen prey to the following
type of inhibition,

{1) Discrimination

(2) Interference

(3) Retroactive

(4) Proactive
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An individual with a learning

disability is likely to ..... |

(1} be environmentally
disadvantaged %

(2) have muh:rr:mpmrme@

(3) be mentally retardee :

(4) have Ianguage i

(4) > SO0 oty
H"\.\ rm
‘nfs fan improve their
sion of written material

se a strategy called SQ4R
8.,

study, query, read, review, revise

(2) survey, question, read, reflect,
recite and review

(3) study, question, read, revision,
review and recite

t-i},rsuwey, query, read, review,
recite and revision
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10. The student is misbehaving to seek | 12. The major shift proposed by
a teacher’s attention. The teacher NCF-2005is .....
should not ... ; (1) learning in the w1cler social
(1) send the student from the context {"v}
| (2) learning through bnuks ’-
tiassroom _ (3) learning in the class
(2) use teaching methods that (4) learning  with -m'teat}mr
provide an appropriate level of monitoring 4 Q},,
instruction O T Boedss 'ii,‘ 2005
(3) attend to the student
(4) ignore misbehavior, praise good
behavior
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llﬁ. One of the following is not a principle
of development.
(1) A reversible process
(2) A predictable process
(3) A dynamic process
(4) A continuous process
300 TRE" G ST S0
(1) Do S3di.
(2) Drrdstonn®i B3>
(3) n&Pe 3ai
(4) DGoBE B3

16. One of the following is an example

of fine motor skills.
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17. HKapid growth and development is

observed in the developmental stage
\ 2
of.... L _ "
(1) late childhood ;E“ PN
2} young adultho :"E{‘u;; ~
: 2

(3) infancy S ':a’f

OV
(2)

7
A e
’::\T}.\%ne of the following does not belong

Vol ot

' # ) |

(1) Palm grasping @\é to the processes of adaptation given
N\ Y ‘
(2) Sitting 5;@ ') by Piaget.
(3) Crawling (%ﬁ (1) Sensation
. o e (2) Equilibration
(4) Walking Qb J
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(3) Assimilation

(4) Accommeodation
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19. One of the following is not a

20.
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characteristic feature of personality.

(1) Itis stable.

(2) It includes cognitive and
affective eomponents.

(3) Itis unique and specific.

(4) 1t is coherent and continuous.

3o TeRE® BurGiaots ol TR0

(1) Z¥ere doused

(2) TorG¥ Bollia gFaress womoin SDA
aaewel

(3) bRt Ll SGR0
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(1) Case study method

(2) Introspection method-.
"

(3) Interview meth %

(4) Experimental e
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The term, "developmental tasks" is
given by ...

(1) Kohlberg
(2} ‘\.-I"}rgulaky
(3) Piaget

(4) Havighurst

L s 2;'%&?53:’ a%

R
e e

%”he domain which is concerned with
the learning of emotional

expression and management of
feelingsisthe......
(1) ecognitive domain
(2) psychomotor domain
(3) affective domain

(4) semantic -:lumaip
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23. A student begins to fear public
speaking after being ridiculed by
her classmates curing a recitation
exercise. In classical conditioning
terms, her newly acquired 'fear'
would be due to afan .....

(1) unconditioned stimulus
(2) unconditioned response
(3) conditioned stimulus

(4) conditioned response

B35 e Sy S wgrgse Dl &S

DR Lisns SoScito e ¢ $REen 6
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Do Dot ST el BT
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(1) dwcddsbss
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(4) echi PHHOED

"Mind has a quality

things". This basic th g@g‘,

related to ....
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25. Aggressiveness, destructiveness,

disobedience, noncooperation, etc.,

are characteristics of a .....
{1) conceptual disorder | |
(2) neurological diﬂﬂl‘dﬂ@r&?
(3) behavioral disorder .

" (4) physiological di g‘y

{E
{%\?ﬁaf the following qualities is

X

NS

i expected of a good teacher.,
) Sharing warmth, enthusiasm
and caring

* {2} ﬂmmunicﬁtiﬂ ree “”:t-

students
(3) Using the usual method of
~instruction for all students
(4) Acquiring knowledge about the

student as background
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97. The following kind of evaluation is

given during instruction.

(1) Formative evaluation,

(2) Summative evaluation.

(3) Continuous comprehensive
evaluation.

(4) Criterion referenced evaluation

3ol TRE" B0 Bt 28h tareness
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According to the "Right to
Edueation Act, 2009", which of the

"following is not correct?
(1) Child shall be admitted to the
appropriate age class

(2) Child shall be required to pass |
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the completion of e]amemim
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29. The main characteristic feature of
an adolescent's social development
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dependent on advances in
cognitive maturity
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LANGUAGE [1 - ENGLISH
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61,

62,

65,

Chooge the grammatically correct | 66.
(13 I'll see you next Friday.

(2) I'll see you an the next Friday.
(3) I'll see you on next Friday. .

(4) I'll see vou the next Friday.

If it hadn’t been for your help, I
don’t know .... !

Choose the correct answer.

(1) what I'd done

(2) what I'd have been done

(3) what I'd have done

(4} what I'd had done

617.
1 wonder if we ......... the doctor to
lock at Mary.

Choose the correct phrase to iidl in
the Blank.

(1} couldn’t ask
() shouldn’t ask
(3 hadn’t ask .
(4) haven't ask

You can only come in .....
minutes,
Choose the appropriate

in the blank.

(1) since
v

(2) within
(3) during
(4} for
He gave her advices.
(?1;1}' be edited as.......
r many meces of

gave her much advice,
vifered her many advices.
e gave her some advices.

T-21 1 -EMATM 114]

Identify the part of the sentence that

has an error.

A} It is not the urge

B) to take revenge that

C) terrifies Hamlet,

D) but the gravita
nature.

(1) B)

(2) O

(3) A)-

(4) D)

o

uncle lives

se5 your uncle live
ives vour uncle live
do your uncle live

Oedipus, the King is the greatest of

all tragic characters.

Comparative degree of this sentence

15 ........ OQedipus, the Kingis.........

(1) a great tragic character,

{2) a greater tragic character.

(3) greater than any other tragic
character.

(4) the greater than some tragic
characters. .

Of all the words given below, one is
given entry in the dictionaries.
[dentify it.

(1) lieutenant .

(2) hieutinent

{(3) leutenent

(4} leiutenant
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70, As &
Dr M Balamuraiikrishna made his
debut at the age of eight.

The underlined word vmplies ...

(1) the first performance befove an
; audiencs -

(2) acting in the muasicsi plava

e i

e —

{3) entry in the primary ciass t s

{4) nutiavion NLo music :
1. Ramolas exhilarating Docfororams i

left the aadisnce awenirook

Iere exhilarating mnwesis

(1) exhausting |

G exhaustve "

) 12} Lot

(4] exciting . E
L. T Ehe e o ARSEIEEREGT ) Vin)eitee

of the epic, everyone is as wraithi

as Achilles,

Use the suitable furm tor 43

Fiven in the brackets. .

(1) regress i

(2} regressive . E

(3) regrvessed i

(4) regressing ‘I
3. The sheer ma w racrtal wed =|

ﬁpeilhiu.di:u -;

The sentenceindicates ... : -~

Qﬂ magie show befioe !
]
K

a boriug recilal

was a wonderiul recitals

al Jacked mapgnifieenes

.
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12} peopiz with coneern
L)Y eeeponenlde peapl

@ Pargyisbone hisintegrity
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portorming  artiste, | 24, The party was eueetent, and I'd bke

Lo thank all ...
{hoasa Lhe correct answer to

compiete the sentence, t&

(1) cousarned poople .

{41 veaple responsi

dtorily dismissed all
SasA Thrcipai attempt

e i htagrity.
fimalions we Toreical attemnpt

T Toddemeesed perompstorily all of

at the farcical
abenspt to Larnish bizintegrity.

A B R RS

! lentiin thée senbencs in which
advarbs have been veed in the
rop ettt el :
‘1Y Be aung wansddarfully at th
thantte yesterdey evening,
sang #at Lhe theatre
wisdsyinlly vesterday evening.
(4 tdo came here today by train.
{41 He came bere by train next

LR g

syissEyTra, »

© idnti ven go to the cinema
= t:= ":'I' " .1'!;1'5.. l!

!_.:._j.|'.' i T

PSR e
L) Yes, posdah

LAY Mg L e

(1) Yes Tdid.

fay Mo Tand,

P.T.O.
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M. Smoking ig ............ to anyone's
health.
Choose the correct word to fill in the
blank.
(1) detrimental
(2) deteriorating-
(3) disillusionary
(4) injury
79. Alexandrian libraries were gutted

down by the invading Huns.

Active voice of this sentence

will be ... X

(1) The invading Huns had gutted
down the Alexandrian libraries.

- (2} The invading Huns gutted down

the Alexandrian libraries:

(3) The invading Huns gutting
down the Alexandrian librarie

(4) The invaded Huns gutting d

Ny

80 to 84 : Read the fuunﬁi?{ja%

carefully and answer the
given below it. /,.._\ N ~)

When the motore ,:.i.s first
introduced, it was g cluméy, noisy
machine that labored-al e street at

a pace no lfaster t

horse. People !u;ﬁ
and fear., i\"

Sinee en,:yif.- motorcar has come
a long wag o A is today a combination of

beaﬁﬁw}r and efficiency. The
1510 automobile, sleek and

:d with its hnlhant hues, is an

of a trotting
ALit with suspicion

B% of art. You can travel in |t. in
(-"""i%' ute comiort at an incredible speed,

W4/ TET-211-EM/TM

BOOKLET @

and yet feel no fatigue at the end of day's
journey. The engine is a masterpiece of
mechanical ingenuity and se lets
you down if you maintain it wel

B0. What was the matnrcaQ en
it was first introduced™

(1) an attractive s;&clﬁna
(2) an awkwa /%@machinﬂ

sant machine
s machine

81.

---------

1orse refusing to move
leeping horse

ﬂ‘?ﬁr

J"B{yTha modern automobile isa .

@Q

the Alexandrian libraries ’Q“\*

(1} beautiful object and a wurk t:rf art '

(2) noisy and ugly vehicle

(3) clumsy machine

(4) vehicle that breaks down very
often

The modern automobileis........

(1) cheap and irrepairable

(2) shiny but rough

(3) uncomfortable and moves at
low speed . :

.(4) comfortable and goes at a highI
speed

The engine is the best example «

Y/

(1) inventiveness
(2) backwardness
(3) helplessness

(4) laziness '

116]
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85. Informationtransfer takes place in
........ direction(s).
(1) three
“(2) four
(3) one
(4) two
86. If a student’s answer script is
evaluated by two examiners, they
must award nearly the same
number of marks. Then we can say
that the testis .........
(1) practical
.(2) reliable /
"
(5) scorable @
(4) valid
Ny
87.

Substitution drill is

e "1:111&
(v i
N

ation

(2) the ¢ mrtﬁ;ﬂicatiun-language
\ .
tﬂ‘é«ﬁnethnd
-{H_quiu-litnmlal method

-
. ‘:*1.]}3 direct method

used in

S

!

W-141/TET-211-EM/TM
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88. Articulatory phonetics deals

--------

(1) pfﬂducti on of suundg-f—

i

N

(2) distortion of so

{a)

ﬂ:@tinn [ PR RS
S

i) 4 consonant and a vowel
et
S L/P'Z} two consonant clusters
, {3) two pure vowel sounds
N/

(4) two consonant sm;nds

Which is the first stage among the
following in planning a ]e;iﬁr.:-n'_?

(1) Presentation stage

(2) Feedback stage

(3) Performance stage

(4} Practice stage

[17]

P.T.O.
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PART-IV (a) :
MATHEMATICS AND SCIENCE ~ BOOKLET @

91,

Identify the empty set

ﬁuz{:n::f:::E =25;sz}

B={x|x+5=5;xeR)

C = {:1: !.-r is an even prime greater
than 2}

D ={0]

Wy DR Tofoied

A={x|x‘=25;xeﬂ}

B ::-[:::]x +5=5;xe R}

€ = {r | 2 o o soue sesy |

D ={0}

(1) A

(2) C

(3) D é
(4) B

The daily rainfall in

for a week is as follows ;
2.9, 2.8, 4.2, 3.3, 3.7/4 Buand 3.7.

The average dail infill in that
week in cms 18 ®
.2.9,28,4.2,

W-4U/TET-211-EM/TM

93. If ABCD is a paralielogram,

then|A -|C indegreesis....

ABCD &5 iS850 Wt
|A 1€ o, Duss (Gifiod

(1) 90 2)

(3) 180 4) *:’t)

If T -71**= ,@1& value of x
BB uains '

b 1x” Gloolf, WS ..
(2) 2
(4) 0

T 6% &m0 r. 3,290 eo Rttt
Do, woass & Do Seuss (tr.esY)
(1) 3,450 (2) 3,600

(3) 3,635 (4) 3,600

The area of a rectangular park is
3,392 sq. m. and‘ its breadth is
53 meters. The perimeter of the
park in metersis ...

L BSBUSTS Sy, @t Perogin
3,392 .20, Sl R e 62 o

(1) 243 (2) 216
(3) 220 (4) 234
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97. If17281s written as 144, then 2744

could be written as ...

17280 144 m 55, 2744 ‘30 D
(2) 243

(4) 256

(1) 181
(3) 196

If the area of the largest triangle
inscribed in a semicircle is 12% 5q.
ems. then the radius of circle in
CMS 1S ...

el estipioed’ wobiPetnln ud JpIGke
Poregs 125 Boe.li., et ¢ g

2

-

5
(1) 2.5 2) 75

the

interest

12 Eaﬁﬁpuﬁ‘

W-ALMTET-211-EM/TM

AN

(3) 5/2 t4) b @7
If a certain sum of mnne@s
itself in 12 }raars
percentage rate n® '
per annum is @
el Mﬁ:@ﬁ

BOOKLET @

100. There are three types of roses in a
basket. Out of them % arered, ~ of

the remaining are yellov

remaining 5 are white ros¢®r
the total number of fl
basketis ....

the

(L18
. (4) 12
I@a”-ﬂa+l=ﬂ and a # 0, then the
value of a +l 16,
a

a’-8a+1=0 52000 a#20 woosd

a+ l CBJJHL_ a7 T g
(# ]

(1) 4 (2) 3
(3) 2 (4) 1

102. If the diameter of a wheel is 1.26
meters, then the distapce covered in

500 revolutions in meters is

-----

1.26 Dot avgios SBAD HiEhae 500
SRseres O0AD ©b Yrincin SrEh

(1) 1970
'3) 1980

(2) 1890
(4) 1990

(19}

P.T.0.
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103. Two numbers are in the ratio 8 : 7.
If on adding 8 to the first and 3 to
the second, their ratio becomes 4 : 3,

then the sum of the numbers is .....

Tots oo 8 7 NIHOE° dmmcos, B
150855 8, Tol2s Sopylt 3 Seutm ol D0
4 : 37 ErlH0. eod o op® B
(1) 54 (2) 45
(3) 66 (4) 22

104. The lengths of the diagonals of a
rhombus are 2a cm and 4a cm
respectively. Then the length of

each side of u rhombus is

---------

e ol (s, Sovon s 20 De.ds.

ol 4a Tebo. et ororh r.nm}:

EOERNY DAEEI ciisrunseas Q
‘1) J5a (2) 5a /\/\\)
3) J5 a 4) 5JE? O
105. In a division sum, t 3 ] gis
eleven times the q?an fr:‘ d two
times the rﬂm‘}ali\% . If the
remainder is 2 he dividend

rrrrrrrrr

R

& PreEies, Phisornd

; gﬁméﬁmammm.
i.‘:‘ " =
%Em‘b S EgI,

fé. e (2) 144
/’r\‘*ﬂlmss (4) 198

BOOKLET @

' 1 1
106. 1f T +1+32 =4a, then the
valueofais........
: L — 40, voxd B
a3 153 g ﬁ)\/ﬂj '
(1) 10 (2) Ib
(3) 10

107. Inaclass, @ﬁf the students
play fﬁ. i < and three-fifths
playts ilx@hy. If 5 students play

games and 15 play

1en the total number of

egts in aclassis.......
)

o Bod® 2/10 5 et Demgpen 1835
»i\:\ Bdo estiort Holckxn 3/5 ¥ Hoto
kém;ﬁgm Toee wEE. 15 Ssed
Y Drrtioen Todedh estimetis Ba0ckias 5 1t
w eI wits, sond HuNoES o
(1) 100 - (2) 120

(3) 150 (4) 200

108. If the total surface area of a cube is
486 sq. em, then the length of its

diagonal incmsis........c.......
.3 Moeihas ool oo Yo 486

.o, sownd oon 3G 3‘:‘.‘."&;
(02505
(1) 1243
(3 3.3

(2) 243
(4) 93

W-41/TET-211-EM/TM
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109. A person saved Rs. 100 from his | 112. A rigorous pmﬁf for the theorem

total income of Rs. 2,000, The angle on a right angled trit_mgle was first
of the sector showing savings in the given by the following Iﬁ\d?a\;}
pie diagramis......... mathematician. (7,
D)
LE S A eIt i, 2,000 eisood, &, 100 | (1) Brahmagupta '\\/1‘"
g T, DESSE Srlow Gl (2) Varshamihira
§'rae Deo | (3) Aryabhatta
(1) 20° (2) 22° O
13) 18° (4) 36° 4
1 2 3 4
110. 995? 999}}-4‘-99‘9-@-—999?— _____
i 2 3 4
9--999= 19992 999" S
999 -099= +999- 999> aus,
e L .,.,‘
(1) Tj (2) ?_4 f
‘ : 3@‘? "=91and a+b =7, then
(3 B 4) %2_ 4 e valueofab is ....
111. Swathi goes to school on acynla:t@ a°+b?=91,a+b =7, 0cdab

speed of 10km/hr. The ‘/\ﬂ/ /‘f'-’ﬁ.h Sews
900 meters from her hout {1) 12

time taken by her tu@l_ e (2) 49
school is ..... A0 | (3) 27
(1} 3 minutes 24 (4) 21
{2) 1 minute 30

(3) 2 minutes 42% 114. An angle which is 15° more than
(4) & rruuutesﬁ."ih wonds four times its supplement is ....
O Pioge 3‘&5’&:5: 10 3.0.. ;"h-‘:u Lﬁﬁrﬁ:,?ﬂw&m:?u:m
Pt S o S e il o3 900 Lt 16° JM 20 o0 Desd ...
: 3}%%:‘3&, PETL wSi 11) 147°
"H:'.:E-.'I' SR i}
d yoars 34 2hde . ) 135
é%@ w0 30 2 (3) 145°

3) 2 otedre 42 :;::;.: {4) 137°
“\S‘HJ B DRelee 24 B -
WAITET-211-EM/TM 121] P.T.O.
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115. One of the advantages of the

116. This mathematician gave the
formula for the area of a triangle as
Js(s —aXs —-b)s —¢) where
a, b, c are the three sides of a tnan

1
and s = — (a+b+c). f{%
2 .ﬁ’\\j:\)
(1) Aryabhatta ? : ;}
(2) Varahamihira K-QJSS_;
o) Bisskseasirys ) O,
U
(4) Brahmaguptté:\(sb
L
¥ (Ofomo oo a, Ei, : wa,
1 o~ <)
g = E E{1+b§ .\W&gg
mrBe i\ fj}](ﬁ -b)s —c)
Uﬂ* fdjﬁ'ﬁtg@ I {
ALS
L L LS e
o
\(4) (e

-~

Heuristic method is ...

(1) it invelves more blackboard
work

(2) it is easy to complete the given
lesson in less time

(3) itis teacher centered

(4) it places the pupil in the place of
an investigator

S S0E° .5 BAPEDS ceveeees

(1) x5 Hewe 32 YOA dowssd

(2) 5os Jovcio B Ssocied® $°0
Soiond eto eptosd

(3) 20 &droryoi 305 85O

(4) Domd s Figtiis oD wiiot

VTET-211-EM/TM

7

[22]

(3) they require m
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117. The advantage of objective type

testsis..
(1) they require special hlul?./ﬁ::ur '

seoring

(2) they can be easily con i‘. \ﬁ
to

prepare
(4) they cover the
contenk

\Ll\vjzln the preparation of the Herbartian

lesson plan, the stage after
generalizationis ....

{1) application

(2) presentation

(3) recapitulation

(4) association

wmmm G
DD, crcrasenans

(1) eielon
(2) Dl Sl

(3) Psbgnd,

(4) sarsto
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119. "Student draws neat and accurate
ligures”,
This specification relates to the
following objective.
(1) Application
(2) Knowledge
(3) Skill
(4) Understanding
“DIRG Seeiin Hogion®, $iperm A,
G alities H 0TS Dokotiood
1) dare
(2) o
(3} mprage

(4) eaomisn

N

S

/”‘*m..x

Li 'Q
f,__h-L‘TV
o\
%lfI‘ET—EI 1-EM/TM

(23]
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120. In evaluating a textbook as per
Hunter's score card, style of
language is to be assasa%
cenessensens POINES, | (O
PELIIEC BaPTROSNe Nak 2
.80 Fyve L‘.‘a.-;;po

L] {{,—\
(1) 50
(2)

%/J
(3 @/

)
Qt
(T

P.T.O.
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£

121. While measuring the thickness of a | 123, The equivalent resistance of twe
vire using a screw gauge, the resistors, when they are connected
reading on the pitch scale is found in parallel is 4 Q. If the valuenfone
to be 2Zmm and that on the head resistor is 6£, then the va.[ﬂc\ﬂf-
scale is 18, If the least count of the another resistoris. | ‘*’H )
screw gauge is 0.01mm and positive e Wmaﬁ’wﬁwfﬁ
zero error is 0.06mm, then the $8 6% Dess 4Q. 7 5":"

; . - J s Dot 6.Q e Do HELD D6 ...
thickness of the wireinmm is..... (1) 69 )
(ALY
&% oA Srtsaszies Bo MRttt (2) 40 1 C"H
e e BEh 2 Duds. KF Wsbcin o (3) 12Q \\\r
o0 B3R 18 ol o7l Bhisy Feb (4) lq,szﬁ \m’
] - » "'H... .\\.
0.01 20,05, &5 %o B 0.06 0.5, | 124 If tﬁq{-fha@ﬁ',nlmmﬂntum of a body
woasd O eoiies L.05.e8 of | magsmp 5kg is 5NS, then its
(1) 2.21 g,e’fam v
(2) 2.01 fﬁ‘hi[ }."'? oy
(3) 2.10
“E;J 20 ms!
(4) 2.12 y -
F i 'k.,ﬁ \\ 1|. {3] 1“ I'.I'.IE I
The relative density of meri:ur;.r‘iq N fH} 95 ms-!
13.6. This means the dfﬂ'ﬂ.@\ig“og ; U 0.5 %u@‘ 2 M‘? Xes mm ES:E
mercury s ..... whic NS waxd o S
(1) equal to the dEnmt]?,Dfﬂ\f?ﬁj (1) 15 Do
(2) equal to 13.6 kgﬁ:m'f N '“I (2) 20 .37
(3} 13.6 times g n*r ‘hfmn the (3) ég i?‘i
density of w, \" 4) i
(4) 1.36 tlmgﬁ\‘pﬁ—gﬁgr than the | 125. The decreasing srder of metallic
densityk @‘ﬂt&r character of the elements, Na, Si, CI,
mwﬁf:@mw 13.6 wodl Sumse MgandAlis.......
Fo =\ B+ 308 irreme S S wistises oo
Ny _ﬁ :
]‘}/m% ML ot Nﬂ, Si‘-, Cf, Mg:ﬁ::&d‘i:.:ﬂi
,5,\.341 1‘35§.w,aahaﬂgmm (1) Na >Al >Mg >Cl >Si
,,g\ 31003 Frogss w136 Teas sy (2) Al >Na >Si >Cl>Mg
\(4) B o s 1,36 Duss s (3)Cl>Si>Al>Mg >Na
(4) Na > Mg > Al > Si > Cl
[24]

W-41/TET-211-EM/TM
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126. A pendulum clock's location is
shifted from the earth to the moon.
To show the same specific time of

the earth, its pendulum length

BOOKLET @

128. Electric current is flown through a
metallic conductor. The elﬂ{:trm

circuitis dueto ..., 1\\'5:11

must be .... (1) both nuclei and ele 3
1 >
S pess (2) neutrino only &Q.ﬁ/
(2) increased to double

(8) decreased (3) electrons unlyf'i\;)o

(4) increased (4) mulecub{%

e S RadIr G gods Do dued o 5 ‘. 515@6":&:55
(G0 DoSks LPGednd. S'ol AL ,h,,,

GDs Bt e Mot MNEDS o0 E \\‘;’f;,

Iy

o [H(} , SOEPRe Toli

1) Sborto & |

e }M@Euﬂ;ﬁﬁa

(2) Sy St d <

(4) 2od. d\y} LEHED DR

127.

The frequency of inaudiblé Fa‘ﬁ“‘u_
for human beings is ....
(1) 1500 eycles/sec

A0

(2) 25 eycles/sec f\u

(3) 150 cycles/sec " “}\ /
(4) 15 eyeles/sec \ V)
Sy <

J"'{E"f. rj

‘mg
S uﬁm%&@% i
(1) 1500 :Af;\r.i:gﬁam

“129. Greenish yellow gas t.lﬁt turns moist
starch iodide paper into blue-black
18...,

S PG ©AFTE TATED, Do Hisstos3
S st S0D Boks Ke> Thlasd

(1) CO,

(2) Cl,

(3) O

(4) H,

125]

-I.0.
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130. In searchlights and headlights of
vislicies, the electric bulb is placed ...
(1) between the focus and the center

BOOKLET @

132. A statement followed by reason is
given as :

"Velocity is called a vector quantlt}

of curvature of the reflector beramss Mt Haw il magmits r{i‘H
2) atth fth
(2) atthe center of curvature of the Identify which of the foll ‘f}f@ﬁﬂ uh/
reflector \\“x\_x 4
18 true.
(3) between the pole and the focus W
Fihie pifloibor (1) The statement, mjphfhut the
\/
(4) at the focus of the reflector Ronten mﬁm“ N
26 Bt . o 035 (2) Bo f,thaﬂﬁ’tm:/ﬁnt and reason
- } » = Hré ﬁ:.[he&‘x\‘
% (3) Hnt 'bhu étatemant and the
(1) Sovsiiieo R Solalixs Spiom Sowe W
ol / {Ehﬁ,ﬂﬂ“ are true and the reason
(2) Sovse usor deto =5 f«?k :!rxp'lmns the statement.
(3) Sovsgse Do, TP Bedakn GhBe | ~14), )The statement and the reason
Y \ -
‘.‘h:;'aséi‘ thh::—' J are true but the reason doesn't
(4) SORGEOTERE - ’Jx’ﬁ"n_h e:’:\:‘x W4 h74 explain the statement.
R
131. The substance that is anid\tz\ n} ' (o5 SH0EE0, T CoNETOD,
nature is . ,{“‘ Z‘H} =4 A N SANCN TRtieee “ul S0P
(1) human blood  ~ )" Smdo ¥ e,
(2) antacid _*{a.: '::Jf} B4 -5 o &
e () Ty 9809e emasis Dol date
ime water | v/ j '
;h (1) B8RS00 5850, 50 T30 LIsHo-
(4) lime ]un:e K“
o ; o (2) 5500, S2teso Dol widie
oy sl Esta:; (3) Soisivo, TOrse Dot By U
A\ e .
m}f,-:. 2 e ealioch
4&;;@3@ (4) EHosie, Totese Dot Sdts Tv, TEe0
f{’:\ @TM~ ERRITPT, DSOS
f?’—‘*\aj_l
W-41/TET-211-EM/TM 26)
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133. The scientist who has not
demuonstrated the discovery made
by Malphigi, regarding blood
circulation was ....

(1) William Harvey

(2) Louis Pasteur

(3) Vesalius

(4) Galton
OF R3Sm Sewefed, S MRty
RGN (ST G Nere, Desisty HPaxss

(1) DBcosssls »
(2) orar %0
(3) ASbatn

(4) Tees

BOOKLET @

135. The living beings that have the
ability of utilizing the waste
materials for their p %tgiun
without excreting them J-Eﬂ
(1) human beings r"‘\\\»._,#
(2) protozoans :
(3) birds

O
(4) plan éih}_)
N .

f.‘lf‘ ii e
4) Dk en-
,.%y ;

::l:g The recent technique employed in

"~
134. In the following chordates, the \:l‘\ ﬁ the development of a kind of bacteria
]
does not pump oxygenate U-ONQJK to remove oil slicks is called .......
various parts of the body. | ..:’j (1) ovulation
----,\_.- J
(1) Only amphibians /“({E;) (2) genetic engineering
(2) Only fish f\}? (3) gene chemistry
(3) Fish and amphi y (4) selection
i
(4) Amphibiaps. tiles A .
P f{fé? e Sasto Do Fonod w3 gss wibaimms
e (BB 95 M&:ﬁp:‘:ﬂﬁ:‘m W) %@Mmﬂé%ﬂ%m
“%’mﬂﬂ:mmﬁm (1) scBlod
o0 EP(ERS . (2) B35 5e2hoeh -
2N o (3) oot g
@m:ﬁum ST (4) Bens
) eiclibioren Babaiian SEiadras
W4 L/TET-211-EM/TM [27] P.T.0.
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137. When a person is on hunger strike,
the following cells supply the stored
food that give the required energy
to the body.

(1) Lymphocytes
(2) Adipocytes
(3) Neurocytes
(4) Osteocytes

w8 553 DONSES A% Bl tls, ol ¥803
ST HET Dol entic Dol Ua Bol
Srpen BESCe B

(1) SePpd;

(2) 2
(3)
(4)

L et 3
il B
o ;SG% ey

L] =
ST e

138. In vegetative propagation

T

give rise to new plants
following parts only.
{11 Stem, flower, fruit

BOOKLET @

139. A student in your school says that
he is 14 years old. You have no

proper instruments at nd to
determine his age. Then nﬂ:ﬂa
method to estimate ’E} lage

approximately.

(1) To count the n

(2) To count t
minute.

(3) Tom the amount of blood.

(4) TW umber of arteries.

m%x E D@ B Hakidy, 14
W/m B Bl
ol

ROGLn S0¥oen o

'{_:3%4.7 208" B, Lol SO Mot
(f‘ ( SErlotnrnd U5 oo i DGrEhas
A ) Oe Sopgi B ot
\1 (2) =G Sotare Sopsn 08 ik -
\ / (3) &5 30Lrerd), Blobie
? (4) Footoo Begsw B otitio
140. The following process does not osceur
during photosynthesis.
(1) Oxidation of carbon into CO,,
(2) Conversion of light energy into

u&%eins.

d@}e rate per
O

chemical energy.
(3) Absorption of light energy.
(4) Reduction of CO,
carbolkydrates.

into |

e vy odio (BoNed® eond @il
(1) >&s CO, m esdstiess Sokewo

(2) =rod 3 Srais 2im Sy Delee
(3) =vod 38 rctmdese

(4) CO,=CpTeaym 5oistee Totso

W-41/TET-211-EM/TM 2
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141. As you go up the classification
scheme, the number of sim i.Iari ties
will .....

(1) increase

(2) change sometimes

(3) decrease

(4) be the same

SRAteasnos" 3ol ool b8 S e
Sy

(1) oo

(2) B°% omty Srborans

(3) Brooros

(4) wdliern dowrow

Suppose there are ten cone :E"ﬁ

the retina of the eye, tﬁﬁ&a};

number of cells that conta w\jﬂ;al

the
retina is ....... /@
mdﬁbfb@;&ma@%m}@
Xoh, w-naﬁaa;?%‘pmmﬁmg 5O
Xeme 38 \

HKS

.|.\_

142,

purple likely to be p
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143. When a fungus is added to toddy,
CO, and alcohol are formed. The
name of the process and the name

of the fungus respectively %

(1) Fermentation, Yﬁastfé}"w
(2) Oxygen-free I‘EEPL/I;B\EQ]{:'R

Penicillium. - y,
(3) Aerobic resp:ratﬁc@actic acid

"/
&gb# ST ﬁlma’g;ﬁén‘ip, alaldie
(28 Evoves Sroargsdon, 835 wbé

Q\/ er80a

l\ﬂ (4) © ko Tydan, 28 hake

é{ The following waste materials from
our households cannot be reused
and recycled.

(1) Paper, hair, iron pieces.

(2) Left over medicines.

(3) Plastic covers, glass bottles,

paper. '

(4) Dry leaves, plastic bottles, metal
. containers, ;

555 3080 el ) S STed® & 20D

DO EsSNderd, SOA 5% Sororenm

BAL BohErad ShioTy

(1) Sisth, Dojgassen, o Bl e

(2) b DoABS Soslives .

(3) L6 sk, reertidres, St

(4) ol wdes, JHE Lves, Sy

STt
P.7T.0.



www.eenadupratibha.net

145. Pick out the one that does not fall
under the meanings imparted for
the word 'process' in the process
approach to curriculum

construction.

(1) The activities provided are

similar to that of scientists.

(2) Processing the information that
helps the full and proper
develnpm&nt' of the intellect.

(3) Giving importance to process

than to the content.

(4) Develops nhilitiea within the

limit of instructional ﬁ*am&wurl-vj%

Ge 300 G MYy [Serdm W

Gomofodi B30 abmisha J&
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146. In Continuous Comprehensive

Evaluation (CCE), the “-HF_? rm

\ ¢

‘continuous’ implies ..., r""L“*:. N
(V7 1\

(1) continuous and ti J"n&éi'tj-‘me
organization of v sts.

(2) examimng/ hg\ﬁj}l’dtmdu&l
frﬂqu/e{? \s%t’!;ljn specified

mt.{.ﬂ*d}a\
(3) Q?ﬂ.i identified aspects

It; ents growth and
-~ \“di npment as a continuous
Y tprbeess.

D

:I' Evaluatmn of an event built into

the teaching-learning process.

\i’:auaw sSssereyesive (CCE) &°
BB e B3 Sereholind
(\ (1) ey oo shyess sascinss e
v SEotte Jopreintis .

(2) S8tctndsn Joired Bt B30
SAPOOEI0 WOioRO .

(3) S DLILD, JTNPAS Soneled,
KaQoli woens WEobYS (¥
Drebtinrerctte Babue

(4) Somrppsss 3ciE" otk SHRed
L  Ouoieba SO DoPowinbs
Sororeiiie Taibo
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147, Sciencsincludes only relative truths

bl nol absolate truths. This means

# 5 ) AR

1) mcience expresses probability
bt not certainty

(%) science’ does not
philosopliical concepts

i3) seigntifie faects
rw pletely true

gy serentific facts are always

accept

are not

centative

LEp wgsss Thoo Y Sovm, SOA
Senarndy By, SRR 19ERT, SO dotit e
(1) Jepiomise SogrBaing Sdstiect ool

e TR0 '
SRS TR EMe: wchB0oRD
(8) ovipatis Somems 330 Smo Ty

A} B Oactis T vy G ae
{ -:' 5] ﬁu‘-: --\.-E‘;-:h-hl I:rlﬁ'”f.-} m&ﬁn /{{

The teaching-learning proce

A

| 8.
Science in a classroom a

of formal education is di

(1) values prevailed i
community

(2) values followe

teacher F/@

-:- e i m”ﬂmmﬁizli%
"- Si8cis T wolc o6

L

g iy ™~
-'---::"-.l"ﬂl..':-

& Dosies-

4 i "'5 |
NG 5000 & Desiian

(4] clioretiondss Crdraien S Desdes
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149. One of the following does not
belong to the factors that are

responsible for the formul of

obijectives of science teachin

(1) The capability of th{i} t
teacher

(2) Feasibility constrai

(3) The need and ca ities of
the learner /.

(4} Then "theSubject matter

vod eomdsde Bharng

J’fQ suristic method 1s intended to
\;arnvida a training in method,
knowledge is a secondary
consideration altogether"”.

This remark by Westway reveals
that the heuristic method is
aimed at .......

(1) imparting process skills

(2) giving training in learning

(3) solving the problem

(4) imparting knowledge

s0FET B30, BEOS* I FPWerdd
&d%ch odol. i &bavs PO
TEdol.” He s G, U hres 308
BE6 oY), aBTDy Yy DFom DAL
EEe

(1) PEctr Boreeuis Sosk S

(2) egigsod® des Diess o

(3) 158500 565 Cotbee

(4) grord, Yeoii Do
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